

AGENDA SUPPLEMENT 2

Meeting: Trowbridge Area Board

Place: Ridgeway space - County Hall, Trowbridge BA14 8JN

Date: Thursday 15 May 2014

Time: <u>7.00 pm</u>

The Agenda for the above meeting was published on <u>6 May 20141</u> and indicated that the report detailed below would be to follow. This is now available and is/are attached to this Agenda Supplement.

Please direct any enquiries on this Agenda to David Parkes, of Democratic Services, County Hall, Bythesea Road, Trowbridge, direct line 01225 718220 or email david.parkes@wiltshire.gov.uk

Press enquiries to Communications on direct lines (01225)713114/713115.

This Agenda and all the documents referred to within it are available on the Council's website at www.wiltshire.gov.uk

16 Community Area Transport Group Report from 8 May 2014 meeting (Pages 1 - 4)

DATE OF PUBLICATION: 09/05/13

WILTSHIRE COUNCIL

AGENDA ITEM NO

TROWBRIDGE AREA BOARD 15 May 2014

COMMUNITY AREA TRANSPORT GROUP SMALL-SCALE TRANSPORT AND HIGHWAY IMPROVEMENT SCHEME RECOMMEDNATIONS

Purpose of the Report

To put forward for approval recommendations from the Community Area Transport Group meeting of the 8 May 2014

1. Background

- 1.1 Due to the complexity of assessing and selecting schemes from the many requests, and the potential time that such an agenda item would take, each Area Board was requested to set up a Community Area Transport Group (CATG) to make recommendations to the Area Board
- 1.2 In 2014/15 Trowbridge Area Board has a budget of £15,354 discretionary budget to involve them in the assessment and selection of small-scale transport schemes and other Highways matters to be progressed in their community area.
- 1.3 It should be noted that this allocation is for capital funding and can only be used to provide new and improved infrastructure. It is to be used for schemes that improve safety, increase accessibility and sustainability by promoting walking, cycling and public transport, and improve traffic management. It cannot be used to fund maintenance schemes; these are selected using technical surveys and inspections.

2. Main Considerations

- 2.1 It was agreed to recommend to the Area Board to allocate £1,641 towards the costs of making the turning out of Halfords / B&Q, Trowbridge a no right turn. The estimated total cost of the scheme is £13,000.
- 2.2 It was agreed to recommend to the Area Board to allocate £400 for signage on Devizes Road on the approach to the Rugby Club making traffic aware of U turning traffic.
- 2.3 It was agreed to recommend to the Area Board to put forward 2 roads to be assessed as 20 mph sites:
 - College Road Trowbridge
 - Church Lane, North Bradley

1

2.4 It was agreed to recommend to the Area Board to approve the 2014/15 list of proposed highway maintenance schemes (Appendix 1)

3. Environmental Impact of the Proposals

3.1 There is no environmental impact

4. Financial Implications

4.1 In 2014/15 Trowbridge Area Board has a discretionary budget of £15,354 for small scale highway improvement schemes. The proposals above can be funded from this budget.

5. Legal Implications

None

6. HR Implications

None

- 7. Equality and Diversity Implications
- 8. Recommendations
- 8.1 It is recommended that the Area Board agrees to the recommendations of the Community Area Transport Group set out in paragraphs 2.1, 2.2, 2.3 & 2.4

Report Author: Rachel Efemey - Trowbridge Community Area Manager

Tel No: 01225 718608

E-Mail: rachel.efemey@wiltshire.gov.uk

Highways Major Maintenance 2014 -2015 – Trowbridge Area Board

Road	Location	Area Board	Recommended Treatment	Average Width (m)	Estimated Length (m)	Est Area of Site (m²)
U/C	Roundstone Street Trowbridge, from Yerbury street to Polebarn Road	Trowbridge	Resurfacing and footways	7.5	140	1,050
U/C	West Street Trowbridge	Trowbridge	Resurfacing and footways	6	140	840
U/C	Ash Drive/ Orchard Way/ Elm Close/ Willow View, North Bradley	Trowbridge	Resurfacing and footway	5.5	840	4,620
U/C	Westbourne Road Trowbridge	Trowbridge	Resurfacing and 50% Footways	6.5	320	2,080
U/C	Clarendon Ave Trowbridge	Trowbridge	Resurfacing and footway	6.5	440	2,860
U/C	Clarendon Road Trowbridge	Trowbridge	Resurfacing and footway	7.5	300	2,250
U/C	Palmer Road Trowbridge	Trowbridge	Resurfacing	3.1	260	806
U/C	Amoracre Trowbridge	Trowbridge	Resurfacing and footway	5.5	170	935
U/C	Seymour Road, Trowbridge	Trowbridge	Surface Only	7.4	800	5,920
A363	Yarnbrook to North Bradley	Trowbridge	Resurfacing	7.2	540	3,888
A350	Yarnbrook to West Ashton	Trowbridge	Resurfacing with some reconstruction	7.4	1,250	9,250
A361	A361 Frome Road, Southwick	Trowbridge	Resurfacing	<mark>7.3</mark>	<mark>600</mark>	<mark>4,380</mark>
A361	A361 Hilperton Road and A361 Hilperton Drive, Hilperton	Trowbridge	Resurfacing	<mark>7.7</mark>	<mark>50</mark>	385

Road	Location	Area Board	Recommended Treatment	Average Width (m)	Estimated Length (m)	Est Area of Site (m²)
A361	A361 Hilperton Road and A361 Hilperton Drive, Hilperton	Trowbridge	Resurfacing	<mark>13.5</mark>	<mark>50</mark>	<mark>675</mark>
B3105	Hill Street / Church Street Hilperton B3105 from lion and fiddle roundabout to Horse Road junction	Trowbridge	Resurfacing and footways	6.4	1,800	11,520
U/C	Newtown Trowbridge, From Frome Road mini roundabout to Stallards roundabout	Trowbridge	Resurfacing with footways	7.8	385	3,003
B3106	Canal Road Trowbridge. From The Down mini roundabout to Seymour Road mini roundabout	Trowbridge	Resurfacing with footways	8.6	270	2,322
B3097	B3097, Hawkeridge Road, North Bradley	Westbury	Carriageway repair (bridge/culvert under Carriageway)	<mark>6.7</mark>	<mark>280</mark>	<mark>1,876</mark>

^{*} Sites highlighted in yellow involve skid resistance improvements.